£} NoAAamAaciaopog pe 10, 100, 1000
1.

2.

10.

6.7 x 10 =

3.28 x 100 =

. 0.56 x 1000 =

. 452 x 10 =

8.417 x 100 =

9.63 x 1000 =

. 0.04 x10 =

2.205 x 100 =

6.25 x 1000 =

0.0035 x 1000 =

E) Askadiko x Askadwko

1.

2.

03 x04 =

0.6 x05 =

. 02x09=

. 015x03 =

. 018 x 0.7 =

0.7 x 0.6 =

04x02=

0.8 x09 =

10.

0.25 x 30 =

0.06 x 500 =

1. 7.3
2. 14.5
3. 743
4. 452

5. 0.17

10x
10x
10x
10x

10x

100x
100x
100x
100x
100x

) NoAAamAaociaopéc pe 0.1, 0.01, 0.001
1.

2.

55 x 0.1 =

68 x 0.01 =
81.3 x 0.001 =
9.2 x0.1=

74.5 x 0.01

3.9 x 0.001

680 x 0.1 =
111.6 x 0.01 =

12980 x 0.001 =

) Awipson pue 10, 100, 1000

1.

2.

10.

MeyaAvutepo
MeyaAUtepo
MeyaAUtepo
MeyaAvutepo

MeyaAvutepo

6800 + 10 =
528 + 100 =
950 + 1000 =
4260 + 10 =
34500 + 100 =
928 + 1000 =
09+10=
2504 + 100 =
86.3 + 10 =

3.7 + 1000 =

Mikpdtepo amd 730

1.45

Mikpotepo amo

Mikpotepo amo 7.43

Mikpotepo amé 45.2

a6 17

Mikpotepo



